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PUZZLE TEST SET NO. 92

Directions: Read the following information carefully and answer the
questions given beside.

In a study group six students from P to U were discussing about six
revolutions that took place in 6 different countries i.e. India, Russia, Japan,
U.S, China and Germany in different years viz. 1967, 1972, 1977, 1981, 1986
and 1989. All the information given is not necessarily in the same order.
Each person was talking about one revolution only.

U talked about the latest revolution that took place in U.S. The revolution
discussed by S happened more than 10 years before the revolution
discussed by P. S neither talked about the Chinese nor the Indian
revolution. As per R, the revolution in Russia took place in an even
numbered year. Q did not talk about the Chinese revolution. T was talking
about the revolution that took place in the year 1981 i.e. after the
revolution in Germany. The Japanese revolution happened just before the
revolution discussed by P.

1. Revolution in which of the following countries took place in
the year 1986?

A. India B.U.S C. China
D. China E. None of these

2. How many revolutions took place between the Japanese and
Indian revolution?

A. None B. One C. Two




. Three E. None of these

. Who talked about the Germany revolution?

.Q B.Q C.P

.S E. None of these

. Which of the following combinations is correctly matched?
. R-Russia—1977 B. T - India—1981 C. S- China - 1967

. P-India—1986 E. P - China - 1986

. Which revolution took place first?

. Russia B. China C. Germany

. India E. None of these




Correct answers:

112345
C/A/D|E|C

Common Explanation:

Reference:

U talked about the latest revolution that took place in U.S.
The revolution discussed by S happened more than 10 years before the
revolution discussed by P.

As per R, the revolution in Russia took place in an even numbered year.

Inference:

As there are only two even numbered years, out of which one is already
occupied by P with reference to the second hint.

Thus Russian revolution took place in 1972.

Years Revolutions Persons
1967 S
1972 Russia R
1977
1981
1986 P
1989 U.S U

Reference:

T was talking about the revolution that took place in the year 1981 i.e. after
the revolution in Germany.




The Japanese revolution happened just before the revolution discussed by

P.

Inference:

With reference to the first hint two cases arise:

Casel Case2
Years : -
Revolutions Persons Revolutions Persons

1967 | Germany S S
1972 Russia R Russia R
1977 Germany

1981 Japan T Japan T
1986 P P
1989 u.s U u.S U

The only left place is filled by the only left person i.e Q.
Casel Case2
Years ” -
Revolutions Persons Revolutions Persons
1967 | Germany S S
1972 Russia R Russia R
1977 Q Germany Q
1981 Japan T Japan T
1986 P P
1989 u.s U u.S U
Reference:

S neither talked about the Chinese nor the Indian revolution.
Q did not talk about the Chinese revolution.

Inference:

Thus Case 2 eliminated as there is no place to locate Indian and Chinese
revolution.




Casel

Case2

Years [Eliminated]
Revolutions Persons Revolutions Persons

1967 Germany S S
1972 Russia R Russia R
1977 India Q Germany Q
1981 Japan T Japan T
1986 China P P
1989 u.s U u.s U




Explanations:

1.

The revolution in China took place in the year 1986.
Hence option Cis correct.

2.

No revolution took place between the Japanese and the Indian revolution.
Hence option A is correct.

3.

S discussed about the Germany revolution.

Hence option D is correct.

4,

P - China - 1986 is the correctly matched combination.
Hence option E is correct.

5.

in the Following the common explanation we can say that Germany
revolution took place first.

Hence, option Cis correct.
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